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REASONING

1. Choose the word that is a necessary part of the underlined
word.

Harvest

(a) Autumn (b) Stockpile (c) Tractor (d) Crop

2. 120, 99, 80, 63, 48, ?

(a) 35 (b) 38 (c) 39 (d) 40

Directions (Q 3-6): Find the odd number/ letters from the given
alternatives.

3. (a) Swimming (b) Sailing (c) Diving (d) Driving

4. (a) Sparrow (b) Swan (c) Parrot (d) Koel

5. (a) Rice (b) Wheat (c) Bajra (d) Jowar

6. (a) Ink (b) Paper (c) Pen (d) Sharpener

Directions (Q 7-8): In each of the following questions two state-
ments are given followed by an inference. Mark the correct in-
ference.

7. 1. My son is not old enough to vote.

II. My son has handsome personality.

Inference: My son is a boy under 18 years of age.

(a) The inference is definitely true (b) The inference is-definitely
false (c) The inferencerisiprobably:-false-or

true (d) The inference cannot be drawn

8. L. I know a professor of a university.

II. He has beard.

Inference: All the professors of the university have beard.

(a) The inference is definitely true (b) The inference is definitely
false (c) The inference is probably false or

true (d) The inference cannot be drawn

Directions (Q 9-13): The following questions\consist of two words
each that have a certain relationship to each other, followed by
four lettered pairs of words. Select the lettered pair that has the
same relationship asthe original pair of words.

9. Run: Race

(a) Enjoy: Journey (b) Lecture: Study (c) Study: Book (d) Party:
Dance

10. Train: Track

(a) Idea: Brain (b) Bullet: Barrel (c) Water: Boat (d) Fame: Televi-
sion

11. Wick: Candle

(a) Lead: Pencil (b) Thread: Wool (c) Light: Darkness (d) Quick:
Rapid

12. Glossary: Words

(a) Thesaurus: Rhyme (b) Atlas: Maps (c) Catalogue: Dates (d)
Lexicon: Words

13. Sea: Shore

(a) Train: Rails (b) Road: Footpath (c) Ocean: Bay (d) River: Delta
14. Pointing towards a man, a woman said, ‘His mother is the
only daughter of my mother’. How is the woman related to the
man?

(a) Mother (b) Grandmother (c) Sister (d) Daughter

15. Introducing Sonia, Aamir says, ‘She is the wife of the only

nephew of the only brother of my mother.” How Sonia is related
to Aamir?

(a) Wife (b) Sister (c) Sister-in-law (d) Data is inadequate

ANSWERS

1. (d) Explanation: To harvest something, one must have a crop,
which is the essential element for this item. Autumn (choice a) is
not the only time crops are harvested. There may not be enough of
a crop to stockpile (choice b), and you can harvest crops without a
tractor (choice c). 2. (a) Explanation: The pattern is 21, —19, —
17, -15...... So, missing term= 48—13= 35. 3. (d) Explanation:
Swimming, Sailing and Diving are related to water. So, Driving is
the odd one. 4. (b) Explanation: Swan is the only water bird in the
group. 5. (b) Explanation: All except Wheat are kharif or summer
crops, while Wheat is a rabi crop. 6. (d) Explanation: All except
Sharpener are used for writing. 7. (c) Explanation: The voting age
has not been given here. So we cannot definitely say about the age
of the child. We can only assess the boy on the basis of the voting
age common in India and boys of this age generally have handsome
personality. 8. (b) Explanation: I know only one professor who
has beard and other professors are not known to me. So the con-
clusion must be false. And the inference that ‘some professors of
the university have beard’ is probably false or probably true. 9. (c)
Explanation: One runs a race and studies a book. 10. (b) Expla-
nation: A train moves on tracks. Similarly, a bullet travels through
the barrel of the gun. 11. (a) Explanation: The first is the working
part of the second. 12. (b) Explanation: The first contains a col-
lection of the second. 13. (b) Explanation: The first has the second
on either sides of it. 14.(a) Explanation: The only daughter of my
mother—myself; Hence, the woman.is the;mother of the man. 15.
(a) Explanation: Brother of mother means uncle. Hence the only
nephew of Aamir’s maternal uncle means Aamir himself. Therefore
Sonia is the wife of Aamir.

NUMERICALABILITY

1. When %of a number is subtracted from %of the same num-

ber, the remainder obtained is 12. The number is
(a) 144 (b) 72 (c) 120 (d) 63

2. The value of 2 — {3 — (4 — 2-3)} is—
(@)3()2(c)1(d)4
3. By selling a radio for Rs 1230, there is a loss of 18%. What

would have been gained or lost per cent if it had been sold for
Rs 1600?

2 2 1 1
(a) 63% (b) 53% (©) 5§% (d) 115%
4. A can complete a work in 30 days while B can complete the

same work in 40 days. If they work together, in how many days
will they complete the work?

(a) 17% days (b) 15% days (c) 11% days (d) 3% days

5. A train is running with the speed of 45 km per hour. What is



the speed in metre per second? . Actual gain = Rs 1600 — 1500

(a) 12.5m/s (b) 11.5 m/s (¢) 10.5 m/s (d) 12 m/s =Rs 100

6. The ratio between two numbers is 3:7. If their LCM is 210, . o, _ 100x100

find the numbers. - Gain% = =555

(a) 30, 70 (b) 20, 60 (c) 30, 60 (d) 40, 70 )

7. A shopkeeper purchases 10 kg of rice at Rs 600 and sellsata = 63%

loss as much the selling price of 2 kg of rice. Find the sale rate

of rice/kg. 4. (a) Explanation: Work of A for 1 day = %
(a) 10 (b) 5(c) 8(d) 12

8. When n is divided by 4, the remainder is 3. What will be the
remainder when 2n is divided by 4?

@1®)2C3@O

and work of B for 1 day = 41—0

. Work of A and B both for 1 day =

1 1
30730

9. How many 3 digit numbers are there, each one of which is

divisible by 62 ! i s
(a) 149 (b) 150 (c) 151 (d) 166 = 120" 120
10. A fort has provision for 220 soldiers for 16 week rate

of 45 grams per day. i ould'go’out'so tha

the provision may 1

day?

(a) 200 (b) 40 (c) 20

ANSWERS
1. (a) Explanation:

o s
120 1
y — =175 days.
. (a) Explanation: meter per hour = 45
. 5
~. Speed of the train ST
1 1
~zof =3
39073 : d 7x, LCM is 3x7xx
£1= and 70 7. (b) Expla-
And 7 of 1 =7 nation: Let selling price be Rs X/kg, loss = CP — SP=> 2xx = 600—
e ice of rice is Rs 5 per

U ~ v C

1 1 43 1
374 12 12 en, 2n = 8q+6 = 4
anation: The desired
-. Number =12 + % ¢ e i AP in whicha=102
and d = 6, let the number of terms in it be n, then, a + (n—1) d =
2. (d) Explanation: 2 — {3—(4—2_—3)} =2-{3-(4-2+3) 996 => 102 + (n—1)x6 =996 => 6 (n—1) = 894 => (n—1) = 149 =>

n=150. 10. (c) Explanation: At 45 gm per soldier per day the
provision is for 16 weeks for 220 soldiers
.. 1 gm per solider per day provision is for 1 week

=2-{3-4+2-3}=2-3+4-2+3=4
3. (a) Explanation: SP=Rs 1230 and loss = 18%

1230100 1230x100 —
~CP= T = ® =220%45%x16 ' o
. 33 gm per soldier per day the provision is for 24 weeks =
=Rs 1500 220x45x16
. Second SP =Rs 1600 33305 — 200

and CP=Rs 1500 . No of soldiers to go out = 220 — 200 = 20.




